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&fSfo Feiag gy 94w Seaalg JIzIT il

Group-A / {@-5
[Full Marks: 50]

1. Answer any three questions from the following: 4x3 =12
e @@ foal? arw Tea wes )

(a) Ram used to buy egg-rolls regularly. After he got a good pay like his
demand for egg-rolls fell sharply. What might be the possible shape of
Ram’s Engel curve for egg-rolls?

A fafie We-QAF [RFare!, OF S (@ SHERFY TR F(E G9-@IEHE & O
SIf ST I, G- T AR Q18T (I T PO (T3 20 #AIE 9
{b) Differentiate between isocline and a ridge 1ine.

G5 SZENTHEA (isocline) © 9B RIS MBTRIR e AL ot S

Suppose the total cost function is given by C =16+ Q. Illustrate the shape
of average cost and marginal cost curves in a diagram.
WA A GG T A T C =16+ Q7 | Gl6 @fbiew 7kl 91T ¥ 9 s
7 SrrefeR wipfe 399 @i

}d) Use demand and supply curves to show unstable equilibrium and explain.

7 oifTm @R @ @R IR FE SR SR (Unstable equilibrium) (A8
R R ICAN

\/(9)( Show that the expansion path for a Cobb-Douglas production function is a
straight line through the origin.

RS (A FIGIA BeAM SLAPHCI CFGE T o2 o1 Reqgof 1R Aot =)

2. Answer any one question from the following: 8x1=8
fmfee @-@IE @3 fe drs Ted wes

(a)How can you distinguish between the Hicks approach and Slutsky’s
‘ approach to decompose the price effect into income effect and substitution
effect?

e
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WY OIS ST el ¢ oS e Reterd ¢wa gy e e ¢ #ib-
@3 (S LI (R 9

(b) Argue whether the following statements are true or false:
fafeie Sieef 3w a1 g o e ok s

(1) Ordinary demand curve is more elastic than the compensated demand
curve.
FeReT WIF T AEd SiRw @ woope viRw @er 6w wfkesy
fogom

(i) The sum of own-price elasticity, income-elasticity and cross price
elasticity of demand is zero.
(@ @I TR B wiwee Ffearee, wiste Rfegrivet g sk
WS Efegrier e == 2

3. Answer any fwo questions from the following:
-G 7T s B mies
(ay Explain the concept of stability of equilibrium. Is a Marshallian stable
equilibrium necessarily Walrasian stable? Explain your answer.
A IS SIEN @0e F Q@R ¢ @ ey wfe-az sl Tfze, o &
SR L TS 267 TSI ¢ JIT A

(b) The production function is X = AK*I” where a+ f <1.

.~ (iy Show that there are decreasing returns to scale and prove that the total
product is greater than k times the marginal product of K plus / times the
marginal productivity of L where k and [ are quantities of the factors K
and L respectively.

@ GFH TeAMA WFHE X = 4AKLF e e, @A a+ <!
@S @ IFeTENS &Afenitd NN @rFea R 21 FS 2 d @ @ &
G2 [ TN K @3 L 93 w7 o sacg, 93w i Seotimew i £ o4 K
-3 2 Testin @8 [ @t L 3 2N Sesivtaa SIS siers @)

(ii) What is elasticity of factor substitution? Prove that the elasticity is unity

for Cobb-Douglas technology. Is the as assumptlon of constant returns to
scale necessary for your proof? -

T Resiaces Riswsiest w50 & @[ ¢ @94 3@ @ Cobb-Douglas
TeAMA SATET TF ¢ TN GF | STeAEe TR dfenR N aw
(a7 F (ST AR &) ATHEAT 9

(c) (I) Suppose Rakhi views butter and margarine perfectly substitutes for each
other.

1 A AR A TR NI ¢ A G0F S =4 1R

(i) Draw a set of indifference curves that describes Rakhi’s preference
pattern for butter and margarine.

S fArerE @ wiE o e

(if) Are these indifference curses convex? Why?

93 Frreiw queF R Sea s @m o
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(iii) If butter costs Rs. 20 per pack and margarine costs Rs. 10 per pack
and if Rakhi’s money income is Rs. 200, which butter-margarine
basket will she choose? Can you show your answer graphically?

I AR 7 &S St 20 B9t @ WieHfew wiw 10 Biw 27 g2 3R
i Wy 200 Biwt 27 @ AR 5 oAfawe e ¢ Wil [ag o ot
Taaft @4ivraz aiat (TS =it ¢

(II) A consumer spends her income on two goods X and Y. If an increase in 5
price of X by Re. 1 leaves her consumption of Y unchanged, what is the
price elasticity of demand for X?

41 T GFEH (OIS O O X GR Y 76 G0 o1 46 031 X 7o v
IIOIF AGE (e Y TR AR weifEe o X wafe skve
wiere f2fSgivmel Fre!

(d) Suppose the production function is Q = 4L°K'™°. 10+5

(1) Derive the long-run average cost and long-run marginal cost curves of
the firm for the above production function.

0 = AI°K"™% -3 BeAma SAST e FIGK ALFIAT 918 35 8 AR
eifSs 7w @l el st

(i1) What is the expansion path of a firm? Is there a link between expansion
path and long-run cost of production? — Explain.

{5 Tk Kem 7 & 2 @2 519 ¢ TS Sesiiva IR @R [@PE =R
& o I w0

Group-B / f¥ett-4
[Full Marks: 50}
Answer any three questions from the following: 4x3=12
e @@ 916 e Tea mes
(a) How are inventories treated in National Income accounting?
TSR S T (W ST 214703 [Foig [{eepa a1 27 9

(b) If I =1+ ay, what is the stability condition in an otherwise Keynesian cross
model?

M I =1 +ay TSR @ T TG ZANCGA =6 a2
Distinguish between CPI and GDP deflator?

e coret i e e i 1 fotbe «aa sy s e e

(d) What is meant by classical dichotomy?
it falkeras” Fece & @il ¢

(¢ How does an adverse supply shock affect the economy?

263w e wfoTrs Feir wdaifecs aeifie 3t 9
y/W hat is paradox of thrift?
Y fe gitei wisite Reaifiel Fite a0 ¢
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5. Answer any one question from the following:
sl @-ia @6 elvsm Tea whes

(a) Write a note on the impact of technological progress on output, employment
and price level in the classical model.

PR T Teotinw, el e mNrs S 2y saelfed erer Raw 9ol
fﬁ@) cETeRty

(b) Discuss the concept of Balanced Budget multiplier using IS-LM model and
Keynesian model.

IS-LM model @R (PPN WEER ALY [ JEHE e @4 =7
TG SN

6. Answer any fwo questions from the following:
RS - 4f6 eloim Tea mes
(a) In the IS-LM model what happens to equilibrium rate of interest, income,
/onsumption and investment under the following circumstances:
IS-LM SO SRAN) %A 2, WY, (ol I3 8RR 8@ & aer 2ite
A ~
(i) When Central Bank raises money supply through open market
operations.
A (PR AT (AT ISR SRR NG L7 @i 3 3
(i1) Government raises tax but keeps the rate of interest unchanged through
monetary policy.

TR T4 e NS oFog o 27 WARRRES e [ e 29 I

LI
(b) “Fiscal and monetary policies differ in their impact on the composition of
aggregate national output.” — Explain.

“He WO WIER R BoiE 2SR RN (i AieEAe ¢ wile Wifew W
N = TR A — I IR
(¢) (i) Explain the Keynesian concept of underemployment equilibrium.
4 @R Sl et SReIICra araens 2t 3

(i) Compare the effectiveness of Fiscal policy between IS-LM model and
complete Keynesian model.

IS-LM @& @R 37~} (3510 et 5oy Rorepie Rfex e goret
AN

%Write notes on the following:
(i) Liquidity trap
SRR TR
(ii) Equilibrium rate of interest in the Classical model.

RIS TS SR J7E 2R

X
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Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. aNfeE T T WA ’2“‘7(57777 fari F1
Candidates should answer in their own words AR [T O TR G *AAAL W
and adhere to the word limit as practicable. Bex FHT1

Use separate answer books for each Group.

&fefe fRerers gy 2% Seesia GaRI Sl

All symbols are of usual significance.

Group-A
o=

1. Answer any three questions from the following: 4x3 =12
sl @-ie foafe aivs T wiss

(a) Distinguish between correlation approach and regression approach to the
analysis of bivariate data.

f5-567 ©rrd Roearet il siafe 8 3¢ swafoq sy #tfe fods
(b) Discuss uses of Geometric Mean.
Brad 1ed e el e

(c)y If A M. and G.M. of two positive real numbers are 10 and 8 respectively,
find their H.M.
W AT {AIE WA (AT T @R STNGI TG IAFH 10 R 8, SIWE /IS ,
o ste St e

j’( Prove that b, b, =r’

_2
ANAFN b, -b, =7

r = correlation coefficient, 32® 7253,
by, = regression coefficient of y on x
b, = regression coefficient of x on'y.

(e) During a certain period the cost of living Index Number goes up from 110 to
200 and salary of a worker is also raised from Rs. 325 to Rs. 500. Does the
worker really gain? If so, by how much?

@ @3 FET T ERTAAN PF 110 ({0F @O 200 TR & 7N @
GFE AT @O 325 TRA (A0 @G 500 B! 20z @ =(fis & erE sei
BT ? R 06! 9
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y{xplain different components of a time series.
@ T Aifwa Riey Tt 9

@

Answer any one question from the following:

Q- G5 20a7 T6q wies

What do you mean by dispersion?

RS zerre B i 2

jryﬂ Show that z":lxi — A| is least if 4 = Median
=1

rte i|x,.——A| -3 N FTOH I 4 = T

i=1

(b) (i) How will you explain kurtosis of a frequency distribution?

3.

1036

@ @I AR Reerr Sreer el i FEN

(ii) Show that Bowley’s measure of skewness lies between +1 and —1.

78 (T Bowley’s &fSamsy “IRMIsi#0a NI +1 (F —1 T4 AF |

Answer any two questions from the following:
TafEiiRe (- 4fe eeim Beg s
(a) (i) What is coefficient of variation?

(SR IIF W 2

(ii) If ax+by+c=0is the relation between two variables x and y then find

the correlation coefficient between x and y.

Tf 76 567 x 9R p-G3 TG FE ax+ by + =0 T, SR x YR y 5o7F Yo7

2~ RS @elrE (@@ I
(iii) Find median from the following data.
fesR ek frem s sgeR wiw A saan
Weight inkg | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
6o Rt
No. of person | 14 26 40 53 50 37 25
IR

If mean is 54.3 kg, comment on the shape of distribution.
% 5% = 54.3 kg TSR I WFiF e g 9

8x1=8

2+6

15x2=30

6+2
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(i) Calcwlate Quartile Deviation.
‘Quartile Deviation’ ¥ 3¢l

Class 90-99 | 100-109 | 110-119 | 120-129 | 130-139 | 140-149 |
= \\0
Frequency | 65 | 69 76 34 Py} 27 ¢
R W

(ii)/If frequency, mean and standard deviation of two sets of observations
be denoted by n, X;, o, and n,, X,, 0, respectively, then show that
ol = not +nyo2 +nd} +n,d;

o? = variance of composite set

X = mean of composite set.

I BeTIA 13 @5 ARTHR AR, @fT o, Awe [y e
n, X, 0, 9R ny, X,, 0, IS QA

2 2
ol rz,a‘,2 +n20'22 +nd; +n,d;

n +n2
@AEA dy=x-X, d,=X,-Xx
o? = Affers @ o
¥ = Aifere e @S 1w
(c) (i) What are the uses of Index number?
T YR JIAeFI & & 9

(i) Compute the Marshall-Edgeworth price index from the data given
below:

fasferie we (s wfie- qweard wiw i5s s e e

Commodity 2012 2017

) Price | Quantity | Price | Quantity
Wi | A | v | AR

A 2 74 3 82
B 5 125 4 140
C 7 40 6 33

(iii) Discuss the problem in the construction of index numbers.
53 WYt [fivem ot [{iSs memefs st s@n
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(dyA1) Show that rxyzﬁ‘é_lrw
C

X, —a b
where y, =—— v.:—}ﬁ———

H
c
a, b, ¢, d are arbitrary constants, c#0, d#0

r = correlation coefficient.

@M rxyz—gi—rw
lelid]
(NQ“LQ u.:xi_a v.:yi —b
e Y d

a,b,c,d=83F, ¢c#0,d+0

r = WZ5ifS @el
\(%ven > x=125, y=80, > x*=1585, 8

D2 =650, Y xy=1007, n=10.

Calculate (i) correlation coefficient , (ii) two regression equations
RETSICR H x=125, D y=80, » x’=1585,

> ¥*=650, Y xy=1007, n=10.

At (i) IS e 7, (i) 75 e 89

Group-B
Rett-«
4, Answer any three questions from the following: 4x3 =12
RS @it fafs eivea Tea wra:
(a) Define convex set. Give two examples of convex set in economic analysis. 2+1+1

Give two examples of increasing economic function.

‘Convex set’ 957% & (@I ? Convex set-a% 4l Twizzd wie A wdffifen
AR IRZTS T, FREN ST rFeas 7o Twigad wed

(B{Consider a firm with the production function O=K%°I"® with P, =Rs. 9 4
and P, = Rs. 4. How much of the two factors will the firm use if the desired
output is 30 units?

WA I G370 Tl TR w1 Q=K [, @UA Py = 9 B @R
P, = 4 B, TICH Beriwa 1R 30 93 2 StEge Towia 1f6 (7 F© #ff W 327
¥R
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c)/If the marginal cost function is

/
MC =2+3,/Q +5/./O find the total cost function F(Q), when F(1)=21.

(e)

(b)

T T I WEFIT MC=2+3,/0 +5/\ /0T, G, W WS F(Q)
R F@E, T F(1)=21.

“Obtain the equilibrium values of national income Y and saving S for

consumption functions C'=25+0.7Y and investment function /=5+0.2Y .

What will happen to equilibrium saving(S) if autonomous consumption falls
to 207

(Ol SoPFS C=25+0.7Y RN S0 [=5+0.2Y 2, SO S (1)
G FEER (S) O W Ay a7 FTFS (S1IGT 7Y (T 20 TW, O
SR Ay el #Rae 7@ 9

Show that income share weighted average of income elasticities is unity and
show that two goods cannot be ‘Superior’ in a two good world.

@A (T AIEE R ST eFifie winse Ffegre Wi @ TN a3
@re @A Y w3 <fRATe 79T GG “Superior’ TS MNE M

Answer any one question from the following:

fsfeide @-@IEt 9356 or Sea wes

Derive the value of the balanced budget multiplier in a IS-LM model. How
does its value Differ from a simple Keynesian Model? Can they be equal? If
yes, when?
IS-LM C&H (0T SIS A0S eeicd Wi 4y st el «3 eaw a[
G (FLAAR NCG(ETH QI W (A AT F 9 93 7 Wi [ o711 279 M
v zm, A9 9

he market demand function of a competitive industry is represented by
0=10.5-P,where Q is the quantity and P is the price. All firms in the
industry have identical cost function C=g—¢*+0.5¢4°, where C is the cost
of a firm and ¢ is the quantity of output produced by each firm. Calculate
(i) The output produced by each firm in the long run
(ii) Long run equilibrium price
(iii) The equilibrium number of firms.
afraiverEie Fis wR bRw STAHF 9 =10.5— P, @A P T WH 4R O
T AR e, P Al Seetnw afodiom I @t ofew
C=q~g*+0.5¢°, C &I Teoa &AfSHIR I IR ¢ OR TeAfrs F&A
QIERiCH

o e

(i) ol Berive alfediam Al Bestiva,
(i) TR SR 7w,

(iii) SR Bestva Bt AT |

3+1

3+1

8x1 =1

4+2+2

4+2+2

Turn Over
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Answer any two questions from the following:
frsfaie - 716 e Ted mes
(a) 4

State the Slutsky equation for a national consumer and deduce from it
that a Giffen good must be an inferior good.

(ii)” Show that for the utility function u =g, - g,, the Income-expansion path

is a straight line from the origin.

(i) If U=y%? I is the utility function of a person where Y denotes wage

()

(i)

(iii)

®) )

(i)

@

(i)

(©) ()

1036

(i)

income and L denotes leisure time enjoyed (per day basis). Find out her
optimum leisure when the wage rate is Rs. 100 per hour.

Slutsky w6 @A @R @3 TG A e @ @B B ooy
@35 (NPT el 1

ot SAFIH u=g,-g, A, (WS @ W (S @AM FTRY &AE
Teifae g3 (6 sl

a3 [T ol ot U=yY . [V} @R ¥ & wofd AW 9 Gk L
2o Riewa s (e Tofers) | o wgfi 2w 0t foig soo Biat =7, oin
Iy R SAfRwe 6 203 9

Consider the production function Q=LK 2. Find out the longrun cost

function associated with it. How does the average cost behave with
change in output?

Consider the following static model.

qd =a+bp(a>0, b<0)

q° =c+dp(d >0, ¢<0):

Examine the effect of a unit tax ‘¢’ on the price in this model.

WA T G TeoAe WorFE =W Q=LK REE AW 33 @l
e w1 Beots RS 0 7% 510 3 [Foir e 20 ¢

el R woaba oo Sewer afs a3 g <7 31 I T,
ALY TN B (AT Aol fdfias s
q* =a+bp(a>0, b<0)

q' =c+dp(d >0, c<0)

In the following model of coffee and sugar, demand and supply
functions are given as

D,=100-5P.~P; S,=—20+2F,

D,=80-4P,-2P.; S,=—10+P,

Using matrix inversion, determine the equilibrium prices and quantities
for the two goods.

Using Cramer’s rule in a IS-LM model, show how equilibrium national
income and the rate of interest will change as a result of increase in the
autonomous consumption expenditure.

15%x2 =30

4+4+7

8+7

8+7
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(i) <3 AeiE 37 ¢ v 5ifEnt @ @i werree 2o
D, =100-5P.—P,; S,=—20+2P,
D,=80~4P,—2P.; S,=—10+P,
it Reresae-3 2N TI9oa SRE Wi g st Nz @)

(i) <« IS-LM T (FIER “aio IR FF, (w4l IR Sy arsig
o7 3R TR 2 AR 23 I g cort ar 3f s

(i) Show that if a consumer maximizes his utility subject to a budget
constraint from one given utility index, she will behave in identical

fashion irrespective of the utility index chosen as long as the index
selected is a monotonic transformation of the original one.

(ii) Prove that in a two commodity world, expenditure share weighted sum
of own price elasticity for the first commodity and cross price elasticity
of the second commodity equals expenditure share of the first
commodity with a negative sign.

(iii). Given AR=60-3Q, find the total revenue function and the marginal

/ revenue function.

() ore @ IR @I ot [iWE B FAICT @I @we ToEi o
c¥0g R T e I@, OiE WA e e R &
HEHSIR B FAR ToH 218 WA 53 7438 7 IBFA I
Ed | CEETGH

(i)&W IR @ 42 T [REE R W03 SRR 9 AR 22 G
ferg wwere RfeReret ¢ fTen we cliviiis ninse B eer wuiE
SN T B2 YA6F SRR T 58 wetres ooz

(iii) #NIF AR=60—30 aUFE (6 T <R 2ifes g Fdize v

X

7+4+4



